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ENGLISH VERSION
Group - A
Answer any Ifwo questions : 18%x2=36

1. What was the political condition of India in the second
half of the 18th century ? Mention specially the
condition of Hyderabad, Mysore and Punjab.

2. Analyze the causes of the downfall of the Maratha
power,



10.

Il

12.
13.

) PG HI-II

. Why did the company introduce the Permanent

Settlement ? Discuss the impact of the Permanent
Settlement on the peasantry.

Discuss the Brahmo social reform movements from
Rammohan to Keshabchandra.

Group - B

Answer any three questions : 1255=36

. Discuss the role of Ranjit Singh in the rise of the Sikhs.

Discuss the causes of the Buxar war. What is the
historical importance of the Buxar war.

Analyze the achievement of Hydar Ali

. What was the cause of the Indigo revolt 7 What was the

role of the peasantry and the zamindars in this revolt ?

Analyze the various aspects of the deindustrialization
debate.

Do you think that the cultural changes that took place
in 19th century Bengal can be identified as
renaissance.

Group - C
Answer any four questions : - Tx4=28

Discuss the historical importance of the grant of
Diwani.

Write a short note on the Regulating Act of 1773.

What is the Doctrine of Lapse ? Discuss the results of
this policy.

PTO.



